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PHY 321 Quiz A MayZ26, 2009

1. A golf club hits a ball. The speed of the ball leaving the club
is 50 mi/hr = 80 km/hr = 22.2 m/s, at angle 6 = 40 degrees.
Estimate the distance where the ball will hit the ground,
assuming air resistance is negligible.

2. A puck slides without friction on the horizontal plane. It is
attached by a light string to a ring on a peg. The puck, initially
at rest, is struck by a force of 1000 N, which acts for a time of
0.03 s, in the direction perpendicular to the string. Calculate
the tension in the string as the puck revolves around the peg.
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